





































Show the eqn
23 2x 1 0

has a solution between
x I and x Z

f x x 2x I

f i 13 26 I 2

f z 23 262 1 3

We have a sign change in the value of the
function between seel and x 2 Since the
functionis continuous fee so has a solution
between x and x Z

EN 2
Let food I 32 1

Show floe to

has a solution between

c 2 and x 3

z 23 3625 1

8 12 I 3

s 33 3635 1

27 27 I

continuous function has sign change between
x z and so 3 So far to has a solution

Approximate Solutions to Equations



between x 2 and x 3

a Show the equ x Axel has a

solution between x o and se

when x o 03 4 o o c l

when x t I i 4 i 5 I

tax is a continuous function so a 42 1

for some value of x between o and I

b Show that the equ x'tax I can

be arranged to give act 2

I 42 1

42 1 x

x E É
c starting with Xo to use the iteration

formula sent If twice

to find an estimate for the solution of
SC Ax I

Co O

Typical Exam Question



x o

Xz I I 0.246


